
MATHS

BOOKS - S CHAND MATHS (ENGLISH)

TRIGONOMETRIC FUNCTION

Multiple Choice Questions

1. 1 radian is approximately equal to

A. 

B. 

C. 

57∘ 16'

47∘ 18' 30' '

53∘ 17' 45' '

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NWwvoAhPVUje


D. 

Answer: A

Watch Video Solution

43∘ 16'

2.  is approximately equal is

A.  radians

B.  radians

C.  radians

D.  radians

Answer:

Watch Video Solution

1∘

0.001746

0.01746

0.0001746

0.1746

https://dl.doubtnut.com/l/_NWwvoAhPVUje
https://dl.doubtnut.com/l/_x5haiGX8MVS6


3. If  lies in second quadrant, then the quadrant in which

 lies is

A. I quadrant

B. II quadrant

C. III quadrant

D. IV quadrant

Answer: D

Watch Video Solution

θ

−
θ

2

https://dl.doubtnut.com/l/_x5haiGX8MVS6
https://dl.doubtnut.com/l/_hijHiyzw11Bu


4. The angle is degree measure between two hands of a

clock at  p.m. is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

8: 30

55∘

66∘

75∘

80∘

5. The angle subtended by an arc of length 20 cm at the

centre of circle when radius is 14 cm is

https://dl.doubtnut.com/l/_jIrCzBYyq43u
https://dl.doubtnut.com/l/_mDfl9Ml3rNbx


A.  radians

B.  radians

C.  radians

D.  radians

Answer: B

Watch Video Solution

5

7

10

7

5

14

7
10

6. A wheel make 450 revolutions per hour. The number of

radians through which its turn in one second is

A. 

B. 

π

4

π

2

https://dl.doubtnut.com/l/_mDfl9Ml3rNbx
https://dl.doubtnut.com/l/_qekb5PAMa17p


C. 

D. 

Answer: A

Watch Video Solution

π

6

π

3

7. If , then cos x is

A.  but not 

B.  or 

C.  but not 

D. none of these

Answer: B

sin x =
3

5

4
5

−
4
5

4
5

−
4
5

−
4
5

4
5

https://dl.doubtnut.com/l/_qekb5PAMa17p
https://dl.doubtnut.com/l/_DuZfeisB1gJl


Watch Video Solution

8. The value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cosec( − 750∘ )

2

√3

−2

2

−
2

√3

9. The value of  istan( − )
15π

4

https://dl.doubtnut.com/l/_DuZfeisB1gJl
https://dl.doubtnut.com/l/_mNhVlLP0ZMen
https://dl.doubtnut.com/l/_rsCCGLZrlKNt


A. -1

B. 1

C. 

D. 

Answer:

Watch Video Solution

1

√3

−
1

√3

10. The range of  cos x is

A. 

B. 

C. 

4 + 5

[ − 1, 9]

( − 1, 9]

( − 1, 9)

https://dl.doubtnut.com/l/_rsCCGLZrlKNt
https://dl.doubtnut.com/l/_CBOPlM1KqmIq


D. 

Answer: A

Watch Video Solution

[ − 1, 9)

11. The domain of  is

Watch Video Solution

2 sin x cos x

12. If x lies in III quadrant and , then sin x and

cos x respectively are

A. 

B. 

tan x =
5

12

,
5

13

12

13

− ,
5

13

12

13

https://dl.doubtnut.com/l/_CBOPlM1KqmIq
https://dl.doubtnut.com/l/_kIOPUDaiqQ0t
https://dl.doubtnut.com/l/_fBuZuo37KIbM


C. 

D. 

Answer: A

Watch Video Solution

, −
5

13

12

13

− , −
5

13

12

13

13. The value of  is equal to

A. 1

B. 

C. -1

D. 2

Answer: B

2sin2 + cosec2 . cos2π

6
7π

6

π

3

3

2

https://dl.doubtnut.com/l/_fBuZuo37KIbM
https://dl.doubtnut.com/l/_3VT7qiaBZ8Qx


Watch Video Solution

14. The value of

is

A. -1

B. 0

C. 1

D. 2

Answer: D

Watch Video Solution

cos( + x). cos(2π + x)[cot( − x) + cot(2π + x)]
3π

2

3π

2

https://dl.doubtnut.com/l/_3VT7qiaBZ8Qx
https://dl.doubtnut.com/l/_MYrqtN4vlaDA
https://dl.doubtnut.com/l/_fWnu3LvffO1T


15. If , then  is equal to

A. 1

B. 4

C. 2

D. 6

Answer: C

Watch Video Solution

sin θ + cos ecθ = 2 sin2θ + cosec2θ

16. If , then  

(i)   

(ii)   

f(x) = cos2x + sec2x

f(x) < 1

f(x) = 1

https://dl.doubtnut.com/l/_fWnu3LvffO1T
https://dl.doubtnut.com/l/_h1lWrQ9xN7CR


(iii)   

(iv) 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2 < f(x) < 1

f(x) ≥ 2

f(x) < 1

f(x) = 1

2 < f(x) < 1

f(x) ≥ 2

17. If  and , then the value of 

is

tan θ =
1

2
tan ϕ =

1

3
(θ + ϕ)

https://dl.doubtnut.com/l/_h1lWrQ9xN7CR
https://dl.doubtnut.com/l/_JQpDfckaEVWl


A. 1. 

B. 2. 

C. 3. 0

D. 4. 

Answer: D

Watch Video Solution

π

6

π

π

4

18. Which of the following is not correct ?

A. 1. 

B. 2. 

C. 3. 

sinθ = −
1

5

cosθ = 1

secθ =
1

2

https://dl.doubtnut.com/l/_JQpDfckaEVWl
https://dl.doubtnut.com/l/_2kZzFCsHeQ8M


D. 4.

Answer: C

Watch Video Solution

tanθ = 20

19. The value of  is

A. 

B. 0

C. 1

D. -1

Answer: B

Watch Video Solution

cos1∘ . cos2∘ . cos3∘ ....... cos179∘

1

√2

https://dl.doubtnut.com/l/_2kZzFCsHeQ8M
https://dl.doubtnut.com/l/_S12g94YP8Qra


20. The value of  is

A. 0

B. 1

C. 

D. 2

Answer: B

Watch Video Solution

tan1∘ . tan2∘ . tan3∘ ....... tan89∘

1

2

21. The value of  is equal totan75∘ − cot75∘

https://dl.doubtnut.com/l/_S12g94YP8Qra
https://dl.doubtnut.com/l/_PBEcDR5JzjJT
https://dl.doubtnut.com/l/_JRRdGP8TwTJD


A. 

B. 

C. 

D. 1

Answer: A

Watch Video Solution

2

√3

2 ⋅ √3

2 − √3

22. Which of the following is correct ?

A. 

B. 

C. 

sin1∘ > sin1

sin1∘ < sin1

sin1∘ = sin1

https://dl.doubtnut.com/l/_JRRdGP8TwTJD
https://dl.doubtnut.com/l/_9jA2mDa7BCiv


D. 

Answer: B

Watch Video Solution

sin1∘ = sin1
π

180

23. The value of  is equal to

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

tan5A − tan3A − tan2A

tan 5A. tan 3A. tan 2A

−tan 5A. tan 3A. tan 2A

tan 3A. tan 2A − tan 2A. tan 5A − tan 5A. tan 2A

https://dl.doubtnut.com/l/_9jA2mDa7BCiv
https://dl.doubtnut.com/l/_sFnEnv2aYFs3


24. The value of  is

A. 

B. 

C. 1

D. 0

Answer: D

Watch Video Solution

sin(45∘ + θ) − cos(45∘ − θ)

2 cos θ

2 sin θ

25. The value of  is  

(i) -1 

cot( + θ). cot( − θ)
π

4

π

4

https://dl.doubtnut.com/l/_sFnEnv2aYFs3
https://dl.doubtnut.com/l/_Yc3uycBLit3R
https://dl.doubtnut.com/l/_4DVtI8WZVBrK


(ii) 0 

(iii) 1 

(iv) not de�ned

A. 

B. 0

C. 1

D. not de�ned

Answer: C

Watch Video Solution

−1

26.  is equal to  

(i)   

cos2θ. cos2ϕ + sin2(θ − ϕ) − sin2(θ + ϕ)

sin2(θ + ϕ)

https://dl.doubtnut.com/l/_4DVtI8WZVBrK
https://dl.doubtnut.com/l/_5VbWJBOBfxmM


(ii)   

(iii)   

(iv) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos2(θ + ϕ)

sin2(θ − ϕ)

cos2(θ − ϕ)

sin2(θ + ϕ)

cos2(θ + ϕ)

sin2(θ − ϕ)

cos2(θ − ϕ)

27. If for real x, , thencosθ = x +
1

x

https://dl.doubtnut.com/l/_5VbWJBOBfxmM
https://dl.doubtnut.com/l/_EFbFZLhpj0KX


A.  is an acute angle

B.  is a right angle

C.  is an obtuse angle

D. no value of  is possible

Answer: D

Watch Video Solution

θ

θ

θ

θ

28. If  is equal

to

A. 1

B. 2

tanA = , tanB = , thentan(2A + B)
1

2

1

3

https://dl.doubtnut.com/l/_EFbFZLhpj0KX
https://dl.doubtnut.com/l/_gpg6ywffo5za


C. 3

D. 4

Answer: C

Watch Video Solution

29. If  is

A. 1

B. 2

C. 

D. 

Answer: B

α + β = , then(1 + tanα)(1 + tanβ)
π

4

−1

−2

https://dl.doubtnut.com/l/_gpg6ywffo5za
https://dl.doubtnut.com/l/_BGvME7pfaIQz


Watch Video Solution

30. If  and  lies in third quadrant, then the

value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sinθ = −
4
5

θ

cos
θ

2

1

5

−
1

√10

−
1

√5

1

√10

https://dl.doubtnut.com/l/_BGvME7pfaIQz
https://dl.doubtnut.com/l/_9flAeneJMZyX


31. The greatest value of  is

A. 1

B. 2

C. 

D. 

Answer: D

Watch Video Solution

sinx. cosx

√2

1

2

32.  lies between

A. a and b

a cos x + b sin x

https://dl.doubtnut.com/l/_XrwQyftUanM3
https://dl.doubtnut.com/l/_qtAPm0Tpnh7J


B. 

C. 

D. 

Answer: C

Watch Video Solution

−(a2 + b2) and (a2 + b2)

−√a2 + b2 and √a2 + b2

−√a + b and √a + b

33. Number of solution of the equation

 lying in the interval  is

A. 0

B. 1

C. 2

tan x + sec x = 2 cos x [0, 2π]

https://dl.doubtnut.com/l/_qtAPm0Tpnh7J
https://dl.doubtnut.com/l/_sJbbexlGzLca


D. 3

Answer: D

Watch Video Solution

34. If

 is

equal to

A. (a)

B. (b) 

C. (c)

D. (d)

cos x = − and π < x < , then
3

5

3π

2

cosecx + cotx

secx − tanx

1

6

−
1

3

−
1

6

2

3

https://dl.doubtnut.com/l/_sJbbexlGzLca
https://dl.doubtnut.com/l/_B0ydEuoDDYj8


Answer: A

Watch Video Solution

35. The value of  is

A. 0

B. 1

C. 

D. 2

Answer: C

Watch Video Solution

sin(π + x). sin(π − x). cosec2x

−1

https://dl.doubtnut.com/l/_B0ydEuoDDYj8
https://dl.doubtnut.com/l/_wtha65LXZCXf
https://dl.doubtnut.com/l/_HQIPQaESZNPF


36. The value of  is  

(i) -1 

(ii) 0 

(iii) 1 

(iv) 2

A. 

B. 0

C. 1

D. 2

Answer: C

Watch Video Solution

3sin . sec − 4sin . cot
π

6

π

3

5π

6

π

4

−1

https://dl.doubtnut.com/l/_HQIPQaESZNPF


37. If  then  is

equal to

A. (a)

B. (b)

C. (c)

D. (d)

Answer: A

Watch Video Solution

sinα = k sin β tan( ). cot( )
α − β

2

α + β

2

k − 1

k + 1

k + 1

k − 1

1 + k

1 − k

1 − k

1 + k

38. If , then the value of  issin x =
1

3
sin 3x

https://dl.doubtnut.com/l/_I7uSUFj9HlRd
https://dl.doubtnut.com/l/_SUEGor5qUZCF


A. 1

B. 0

C. 

D. 

Answer: C

Watch Video Solution

23

27

−
23

27

39. The value of  is

A. 

B. 

C. 

cos248∘ − sin212∘

√5 + 1

8

√5 − 1

8

√5 + 1

4

https://dl.doubtnut.com/l/_SUEGor5qUZCF
https://dl.doubtnut.com/l/_BbSsnK1aMVLc


D. 

Answer: A

Watch Video Solution

√5 − 1

4

40. The value of  is

A. (a)

B. (b)

C. (c) 

D. (d)

Answer: D

Watch Video Solution

cos . cos . cos . cos
2π

15
4π

15

8π

15

16π

15

−
1

16

−
1

8

1

8

1

16

https://dl.doubtnut.com/l/_BbSsnK1aMVLc
https://dl.doubtnut.com/l/_LbyR5J54sDyM


41. The general solution of the equation

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan(2x + ) = 0
π

12

−
nπ

2

π

24

nπ +
π

12

nπ −
π

12

+
nπ

2

π

24

https://dl.doubtnut.com/l/_LbyR5J54sDyM
https://dl.doubtnut.com/l/_jnfjSOyO1e0D


42. The general solution of the equation

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin2x. secx + √3 tan x = 0

(2π + 1)
π

2

nπ

nπ +
π

6

nπ −
π

6

43. If A lies in the second quadrant and ,

then the value of  is

3 tan A + 4 = 0

2 cot A − 5 cos A + sin A

https://dl.doubtnut.com/l/_ePuCn9hEiYrN
https://dl.doubtnut.com/l/_V0AHFCuBMZFQ


A. (a)

B. (b)

C. (c)

D. (d)

Answer: B

Watch Video Solution

−
53

10

23

10

37
10

7
10

44. If , then  is equal to

A. (a) a

B. (b) b

C. (c) 

tan θ =
a

b
b cos 2θ + a sin 2θ

a

b

https://dl.doubtnut.com/l/_V0AHFCuBMZFQ
https://dl.doubtnut.com/l/_NJecaT86r6km


D. (d) 

Answer: B

Watch Video Solution

b

a

https://dl.doubtnut.com/l/_NJecaT86r6km

